KCL KT7DD/KT7DDS  Ordering Code

Power loss Ps [KW]

@ Series

KT7DD/KT7DDS - B38-B28-1R00-A 1-00-*
@ A6 OO ® ®©
@

(6) Design letter

KT7DD series-ISO 4 bolts 3019-2
Mounting flange 125 B4 HW
KT7DDS series-SAE C 6 bolts
Mounting flange J744

@ Seal class
1 = S1 (for mineral oil)
4 = S4 (for the resistant fluids)

(2) Camring for "P1" ~ " P2" 5 =S5 (for mineral oil and fire

Volumetric displacement (cm3/rev)

resistant fluids)

B14=43.9 B35=113.4 Mounting W / connection variables
B17=55.0 B38=120.6 —
B20=66.0 B42=137.5 PI=P2=17 S=4"
B24=81.1 045=145.7 UNC | METRIC
B28=89.9 050=157.9 KT7DD MO
B31=99.1 KT7DDS| 00 MO

(3) Type of shaft KT7DDS *** No Mark = 00

1 =Keyed (SAEC)

2 =Keyed ( SAE CC)
3 = Splined ( SAE C)
4 = Splined ( SAE BB)

@ Modifications

INTERNAL LEAKAGE (TYPICAL)

Type of shaft KT7DD - KT7DDS é 4
5 =Keyed (ISO 3019-2-G32M ) = 20| T 10 cSt -
[— — 24 ¢St P1~P2 ////

@ Direction of rotation & 16 IS
(view on shaft end) %) 12 - ]
R = clockwise = == -
L = counter - clockwise <y ad _—1PI~P2

(5) Porting combination S 0 35 70 105 140 175 210 240
00 = standard =

S = N W A LN X

Pressure p [bar]

Do not operate pump more than 5
seconds at any speed or viscosity if

HYDROMECHANICAL POWER LOSS

TYPICAL X .
( CAL) internal leakage is more than 50 % of
theoretical flow.
—--— n=2500 rpm
——— n=1800 rpm
n=1200 rpm P1~P) -] PERMISSIBLE RADIAL LOAD
1 pipy 1980 -
T 1760 v
_ = Fa
- - P1~P2| _——1
——- z 1540 Shaft keyed N° 1
— | £ 1320
[
— < 1100
0 35 70 105 140 175 210 240 S 830
Pressure p [bar] 660
Total hydromechanical power loss is the sum 440 600 900 1200 1500 1800 2100 2400

of each section at its operating conditions.
Speed n [rpm]

Maximum permissible axial load Fa =800 N




KCL

KT7DD/KT7DDS Dimensional Drawing

b

349.5
214.5 346
134.2 148.5 38.1 84
W
[ [ ] == = | |
L1 f\ 7.9 +0
o [ s 493 | Key 7.94-005
3 ' 3 M10x20 DEEP
—i Yo, o
— —
— a2
=S 7
- - - - - - —&
K = I
8| X
re ol <
g | =
S ~|( <
; N Pl
w 280 Shaft code 1
MOUNTING TORQUE 260Nm art coae
30 Keyed SAE C
Key 10.0/8.0 -0.05
M10x20 DEEP
56 46 68 30.2 77.8 30.2 o1
e -  — +0
79 79 79 iz ﬁ 7.9 Key 9.52-0.05
— — == - e
38.1 24. s08 || f
50 M10x20 DEEP
| — O © D C | .
- S N < r | Og
I i = 2 g v P1 { _ o
) Q o St
25| 3 D o O o8l
gl = A S
- - gl & O D, - 2lg
© ] s 2
Shaft code 3 Shaft code4 Shaft code 5 — o 11 UNCXL 16" DEEP ] <
SAE C Splined SAE BB Splined (M16x30) 7/16"-14UNCX0.94" DEEP
shaft class 1 - J498  shaft class 1 - J498 7/16"-14UNCXx0.94" DEEP (M12X24)
b (M12x24) : Shaft code 2
12/24 dp. -14 teeth  16/32 dp. -15 teeth Shaft torque limits (m//rev x bar)
30° pressure angle.  30° pressure angle.
Flat root side fit. Flat root side fit. Pump | Shaft |[Vpxp max.P1+P2
Alternate mounting flange 1 43240
. ?S e*45 W K1 D1 K2 $D2 2 71822
Series -
Max Min KT7DDS| 3 61200
KT7DD [124.99(124.94| 2.0 9.49 | 180.0 | 18.0 113.1 13.9 7 58120
KT7DDS| 127.0 |126.94] 1.5 12.7 [ 181.0 | 17.5 | 1145 | 14.3
5 35424
OPERATING CHARACTERISTICS - TYPICAL [24 cSt]
Seri Volumetric Speed Flow gve [ //min ]=1800rpm Input power P [KW]=1800rpm P Max | Max
eries Displacement Vp| n[r.p.m] | p=0bar |p=140bar|p=300bar| p=7bar [p=140bar|p =300 bar Kalenf| r.p.m
B14 43.9m//rev 1800 79.1 72.5 64.9 2.6 20.7 43.6
B17 55.0m//rev 1800 98.8 92.3 84.7 2.8 25.3 53.6
B20 66.0m//rev 1800 118.6 112.0 104.5 3.0 29.8 63.6
300
B24 81.1m//rev 1800 145.8 139.2 131.6 3.4 36.1 77.4
B28 89.9m//rev 1800 161.8 155.2 147.6 35 39.7 85.5
B31 | 99.1m//rev 1800 1783 171.7 164.2 37 43.6 93.7 3000
B35 113.4m//rev 1800 203.9 197.2 190.6 1) 4.0 49.4 97.2 1)
280
B38 120.6m//rev 1800 216.8 210.2 203.6 1) 4.2 52.4 103.2 1)
B42 137.5m//rev 1800 247.2 240.6 2349 2) 4.5 59.4 1114 2)| 260
B45 145.7m//rev 1800 262.0 253.6 247.5 3) 5.0 62.4 107.7 3)| 240
B50 157.9m//rev 1800 284.0 275.8 271.3 4) 5.3 67.5 100.3 4| 210
1) B35-B38 = 280 bar max. int 2) B42 = 260 bar max. int. 3)045 = 240 bar max. int. Min Speed : 600 rpm

4) 050 = 210 bar max. int




	20220510121004615
	B003 0330.pdf

	P( 75 )-KT7DDS-Dimensional Drawing-Model



